Anatomy CAT 1 Questions 426

1. Regarding the sensory supply of the scalp, choose the incorrect statement:

a. The supraorbital nerve is a branch of the ophthalmic division of trigeminal nerve

b. The greater occipital nerve is a branch of the cervical plexus

c. The supratrochlear nerve lies medial to the supraorbital nerve

d. The skin over the temporal region is supplied by the auriculotemporal nerve

e. The lesser occipital nerve carries fibers from C2 segment.
 2. Regarding the emissary veins, choose the incorrect statement:

a. Connect superficial veins of the scalp with the diploic veins

b. Connect superficial veins of the scalp with the intracranial venous sinuses

c. Lie in the subaponeurotic space

d. Have valves which allow the blood to flow from the superficial veins to the deep veins

e. Help in spread of the infection of the scalp to the skull bones

3. All of the following statements regarding orbicularis oris are correct, EXCEPT:

a. It is a muscle of facial expression

b. It is supplied by facial nerve

c. It arises from the pterygomandibular raphe

d. It helps in speech

e. It is inserted into the skin of the lips.

4. Regarding the parotid gland:
a. Its apex lies just below the external auditory meatus

b. It is enclosed within the investing layer of the deep cervical fascia

c. Its duct pierces the masseter muscle 

d. Its veins drain into the facial vein

e. It is supplied by the facial nerve

5. Regarding the secretomotor supply of the parotid gland, the pregnglionic parasympathetic fibers:

a. Arise in the superior salivatory nucleus

b. Are carried by the facial nerve

c. Are carried by the greater petrosal nerve 

d. Are carried by the auriculotemporal nerve

e. Terminate in the otic ganglion
6. The following muscles are supplied by occulomotor nerve, EXCEPT:

a. Sperior rectus.

b. Inferior rectus.

c. Superior oblique.

d. Inferior oblique.

e. Levator palpebrae superioris.

7. Regarding the muscles of the orbit, choose the correct statement:

a. Lesion of the abducent nerve results in lateral squint.

b. The superior rectus raises the cornea directly upwards

c. The inferior oblique muscle rotates the eyeball so that the cornea looks upwards and medially.

d. The medial rectus is supplied by the occulomotor nerve. 

e. The superior oblique muscle arises from the common tendinous ring

8. All of the following nerves pass through the common tendinous ring, EXCEPT:
a. Abducent

b. Nasociliary nerve

c. Trochlear nerve

d. Upper division of occulomotor nerve

e. Lower division of occulomotor nerve

7. Regarding the ciliary ganglion, choose the incorrect statement:

a. It is located lateral to the optic nerve

b. It receives its preganglionic fibers through the occulomotor nerve.

c. It supplies constrictor pupillae muscle.

d. Its postganglionic fibers lie in the short ciliary nerves.

e. It receives a communicating branch from the optic nerve

9. The following are branches of the nasociliary nerve, EXCEPT:        
    

a. Lacrimal.

b. Long ciliary.

c. infratrochlear 

d. Anterior ethmoidal.

e. Posterior ethmoidal.

10. The medial pterygoid muscle:

a. Has a superficial head arising from the medial pterygoid plate

b. Is inserted to the coronoid process of the mandible

c. Is supplied by the posterior division of the mandibular nerve

d. Assists in depressing the mandible

e. Helps the lateral pterygoid muscle in chewing movement

11. During opening of the mouth, which one of the following muscles is responsible to pull forward the neck of the mandible along with the articular disc?
a. Masseter

b. Temporalis 

c. Lateral pterygoid 

d. Medial pterygoid.

e. Buccinator 

12. Regarding the digastric muscle, choose the incorrect statement:

a. It has two bellies of origin

b. The posterior belly is supplied by the posterior auricular nerve

c. The anterior belly arises from the digastric fossa of the mandible

d. Its intermediate tendon pierces the stylohoid insertion

e. It depresse the mandible 

13. All of the following muscles lie in the floor of the carotid triangle, EXCEPT:
a. Thyrohoid

b. Hyoglossus

c. Mylohyoid

d. Middle constrictor of pharynx

e. Inferior constrictor of pharynx

14. Regarding the infrahyoid muscles, choose the incorrect statement:

a. All of them are supplied by ansa cervicalis

b. The sternohyoid depresses the hyoid bone

c. The thyrohyoid elevates the larynx

d. The superior belly of omohyoid is inserted to the body of the hyoid bone

e. The sternothyroid arises from the manubrium sterni.

15. Which one of the following statements regarding otic ganglion is incorrect?

a. It is the largest parasympathetic ganglion.

b. It is situated just below the foramen ovale.

c. It lies medial to the mandibular nerve

d. Its preganglionic fibers originate in the inferior salivary nucleus.

e. Its postganglionic fibers join the auriculotemporal nerve.

16. Which one of the following statements regarding lingual nerve is incorrect?

a. It is a branch of the anterior division of the mandibular nerve

b. It can be damaged during extraction of the lower third molar tooth

c. It is joined with by the chorda tympani nerve 

d. Its terminal sensory branches supply the lingual surface of the gums

e. It communicates with the hypoglossal nerve.

17. Which one of the following statements regarding submandibular gland is incorrect?

a. Its superficial part lies in the digastric triangle

b. It is separated from the parotid gland by the stylomandibular ligament

c. It is supplied by the submandibular ganglion.

d. It is enclosed by a fibrous capsule derived from the pretracheal fascia.

e. Its duct opens on the summit of the sublingual papilla

18. Which one of the following statements regarding sublingual is incorrect?

a. It lies beneath the mucous membrane of the floor of the mouth

b. It is related posteriorly to the submandibular gland.

c. Its postganglionic parasympathetic fibers are carried by the lingual nerve

d. It is related laterally to the submandibular fossa of the mandible

e. Blockage of one of its ducts may be the cause of cysts under the tongue.

19. Which one of the following statements regarding thyroid gland is incorrect?

a. The apex of each lobe is directed upward to the lamina of the thyroid cartilage.
b. It is enclosed within the pretracheal fascia

c. The inferior thyroid veins drain into the internal jugular vein

d. The recurrent laryngeal nerve lies medial to it.

e. The rounded posterior border of each lobe is related to parathyroid glands. 

20. Spasm of which one of the following muscles results in flexion deformity (torticollis) of the neck?

a. Omohyoid

b. Sternohyoid

c. Sternocleidomastoid

d. Trapezis

e. Scalenus anterior

21. The ansa cervicalis:

a. Carries fibers from C 2, 3 only

b. Carries both motor and sensory fibers

c. Lies superficial to sternomastoid muscle

d. Is embedded within the anterior wall of the carotid sheath

e. Supplies sternomastoid muscle

22. All of the following statements regarding the pterygoid venous plexus are true, EXCEPT:

a. It receives veins corresponding to the branches of the maxillary artery

b. It communicates with the facial vein

c. It communicates with the ophthalmic veins

d. It is drained into the maxillary vein

e. It is drained into the cavernous sinus 

23. All of the following structures lie superficial to the hyoglossus muscle, EXCEPT:

a. Lingual artery

b. Submandibular ganglion

c. Styloglossus muscle

d. Submandibular gland

e. Hypoglossal nerve

24. Regarding the superior sagittal sinus, choose the correct statement:

a. It begins as continuation of the occipital sinus

b. It usually continues as the left transverse sinus

c. It joins the inferior sagittal sinus to form the straight sinus

d. It is the main site for the drainage of the cerebrospinal fluid

e. It lies in the free margin of the falx cerebri

25. Regarding the cranial cavity, choose the incorrect statement: 
a. The foramen rotundum exits maxillary nerve

b. The sphenoparietal sinus lies along the posterior margin of the lesser wing of sphenoid.

c. The endosteal layer of the dura mater extends into the spinal canal through foramen magnum.

d. The free margin of the tentorium cerebelli is attached to the anterior clinoid process 

e. The dura mater in the posterior cranial fossa is supplied by the cervical nerves. 

26. Regarding the face, choose the incorrect statement:
a. There is no deep fascia in the face

b. The muscles of facial expression are mostly inserted into the skin of the face

c. The facial vein is formed by the union of the supraorbital and supratrochlear veins

d. The buccinator muscles is supplied by the buccal branch of the facial nerve

e. The palpebral part of orbicularis oculi elevates the upper eyelid
27.Pulsations felt at the lower border of the mandible just anterior to the masseter muscle are in the:

a. superficial temporal artery.

b. Lingual artery.

c. Maxillary artery.

d. Transverse facial artery.

e. Facial artery.

28. A boil in the dangerous area of the face can result in cavernous sinus thrombosis through:
a. Infraorbital vein.

b. Maxillary vein.

c. Inferior labial vein.

d. Ophthalmic veins.

e. Retromandibular vein.
29. The following structures lie anterior to the trachea, EXCPT:

a. Recurrent laryngeal nerves

b. Isthmus of the thyroid gland

c. Thyroidea imma artery

d. Jugular arch

e. Inferior thyroid veins

30. Regarding the esophagus, choose the incorrect statement:

a. It begins at the level of the sixth cervical vertebra

b. It lies anterior to the prevertebral fascia

c. It is supplied by the inferior thyroid arteries

d. It is drained by the internal jugular veins

e. It is innervated by the recurrent laryngeal nerves
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